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1. -1 × -6 =                       2. -7 × 7 =                   3. 5 × -7 =          4. -2 × -2 =                       5. -8 × 3 =                   6. 4 × 8 =      7. -1 × 6 =                        8. -6 × 4 =                   9. -8 × -7 = 10. -6 × 7 =                    11. -4 × -1 =                12. -7 × -7 = 13. -6 × 5 =                    14. -2 × -3 =                15. 4 × 2 =   16. -6 × -9 =                   17. -4 × -3 =                18. -9 × -5 =
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MULTIPLYING INTEGERS
(−6)×0 =                          7×3 =                             6×(−10) = (−3)×(−5) =                     8×(−2) =                       (−4)×(−10) = 10×(−3) =                        3×5 =                            9×(−4) = 10×4 =                            10×(−4) =                      5×9 = 0×(−10) =                       11×11 =                         2×3 = (−4)×(−12) =                  (−4)×(−6) =                    (−10)×(−2) = 3×12 =                             4×7 =                             2×4 =      3×(−3) =                         (−12)×(−12) =                (−9)×5 = 9×(−7) =                          9×8 =                             (−1)×10 = (−1)×(−2) =                     4×(−12) =                      (−6)×(−5) = 
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1. -176 ÷ 11 =               2. -190 ÷ 2 =                  3. 33 ÷ 11 = 4. 4 ÷ 4 =                       5. 54 ÷ 2 =                      6. -10 ÷ -10 = 7. -60 ÷ -12 =                8. 15 ÷ -5 =                     9. 60 ÷ -10 = 10. 168 ÷ 7 =               11. 60 ÷ -12 =                 12. 88 ÷ -8 = 13. 24 ÷ 12 =               14. 110 ÷ -11 =             15. -108 ÷ -3 = 
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DIVIDING INTEGERS
1. 130 ÷ -10 =                 2. 16 ÷ -4 =                  3. -3 ÷ -3 =      4. 72 ÷ 4 =                       5. 142 ÷ -2 =                6. -114 ÷ -2 = 7. -99 ÷ 3 =                      8. -180 ÷ -4 =              9. -160 ÷ -4 = 10. 10 ÷ -10 =                11. 4 ÷ 1 =                   12. -120 ÷ -4 = 13. 33 ÷ -11 =              14. 1,000 ÷ -10 =        15. 120 ÷ -12 = 16. -161 ÷ -7 =            17. 77 ÷ -7 =                 18. -72 ÷ 12 = 19. -77 ÷ 11 =             20. -44 ÷ 11 =               21. -60 ÷ -10 = 
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(-5) + (-4) =                  (-4) × (-7) =                   (+6) - (-2) =    (-3) + (+1) =                 (-18) ÷ (-6) =                  (-1) × (+5) =        (-2) × (-7) =                 (+8) × (+3) =                 (+9) + (-3) = 
 (+3) × (-1) =                   (-4) - (-1) =                   (+6) + (-5) =      (-3) + (+9) =                    (-5) × (+3) =                 (-3) ÷ (+3) =     (-3) × (+3) =                    (-3) + (-6) =                  (+8) + (-9) =   (-5) × (+5)                       (-8) - (+6)                     (-7) - (-3) =    (+1) - (-9) =                     (+8) × (+4) =                (-4) + (-5) =  (+8) - (-2) =                      (-9) + (-4) =                 (6) × (+3) = 
(-7) - (+2) =                      (+2) × (-4) =                 (+3) + (-8) =
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Multiply and Divide Two Integers

If the signs are the same then If signs are different then the
the result is positive. result is negative.
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